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Round 1: identify the urban trees
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Round 2: urban tree knowledge
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Urban trees are resistant to:

a. Graffiti
b. Pollution
c. Fire

Holly bushes are male or female —the female ones grow berries. The Golden King is
female, what is the Golden Queen?
a. Female
b. Male
Which statement is incorrect?
a. Urban trees are beneficial to our mental and physical health
b. Urban trees destroy habitats for wildlife
c. Urban trees can increase property values
d. Urban trees lower noise and air pollution
The first recorded game of conkers was played in:

a. England

b. Isle of Man
c. Scotland

d. Isle of Wight

Sycamore seeds are known as ‘helicopters’ because their wings rotate similar to
helicopter’s propellers on the wind. How many seeds does one sycamore tree
produce in a season?

a. 1,000
b. 5,000
c. 10,000
d. 50,000
Trees can cut outdoor and indoor pollution by:
a. 10%
b. 30%
c. 50%

An English oak tree can be found in urban areas. A mature oak today could have
been around during? (Choose the earliest).
a. 13th Century
b. 15th Century
c. 17th Century
d. 19th Century
Urban trees are useful for addressing climate change. Which statement is untrue?
a. Urban trees can reduce flooding
b. Urban trees increase temperatures
¢. Urban trees sequester carbon dioxide



